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1. A4 LIRFE (o) « AMEAMEB(mL)A 1: 5710 FILLE] CGRIUHRINZ 0.1g, AN ImL ZE587K) A
K, S1%JET 25°C, 10000g B0» 10min, B b5,

2. Y. EEBIEECE (100N - ZEBKAER (mL ) 450071000 1 FIEEA] CEEY 500 T34 1mL
FURAKD) , VKB DRI (Th3R 300w, A 38>, [AkE 7 #b, AEHA 3min) ; #RJE 4°C, 10000g
20 10min, B _EiEE UK BRI

3. MEEFL B BEEEN,

Wi BpE:
THE &
FEd (ub) 40
H,0 (uL) 40
R (uL 100 100
WA= (mL) 1000 1000

2], Bkt 10min, WA, 540nm NIERIGE. AA=A TE-A T H. ZHEREME.

RERSEITE:
FRUEZAE T ISE RIH 5 R4 y =2.048x + 0.0229, R2=0.9943; x AARMEMIE (mg/mL) , v AWOGIE.
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1. IBIMIE () B 40 s AR

JREZE S & (mg/mL)= (AA-0.0229)+2.048=0.4882x(AA-0.0229)

2. FRHRFEAS T RIS

REE ST mg/g fF )= (AA-0.0229)+2.048xV Ff M+ W=0.4882x(AA-0.0229)+W

3. HIREOWRETE

JRE R & (mg/mg prot)= (AA-0.0229)+2.048+Cpr=0.4882x(AA-0.0229) +Cpr

VFES: IINSRBGBAARL, 1mL: Cpr: FEAREABUKE, mg/mL; W: FEAGE, g 500: 41 =40
S8, 500 75,




